
Context:
One schedule with only 1 operation, see duration & qty below

Schedule

Two shifts:
AM 
PM

1 single operation 

Duration: 12h
Qty: x3 

Total mmh: 36h
Type of craft: B2



AM: x3
PM: x3 JOB ID: 67d93251cf90595ba4780540Shift



JOB ID: 67d932a3cf90595ba4780544

Infeasible solution

AM: x3
PM: x2Shift



JOB ID: 67d9379fcf90595ba478054c

Feasible solution; 
Issue: Visualization on GSLP (Dates & Craft chart)

AM: x3
PM: x0Shift

Red notes: Issues detected Issue already declared to IBM


